



**Himachal Pradesh University**  
NAAC Accredited 'A' Grade University

Tabulation Sheet in respect of Third Year Examination held in APRIL 2025. The Result of the student has been shown against their names and roll no.

**Abbreviations**

TE - Term End Examination	GP - Grade Point	M.O. - Marks Obtained	M* - Marks with Grace
CCA - Continuous Comprehensive Assessment	CP - Credit Point(Credit X Grade)	M.P.M - Minimum Passing Marks	* - CCA not entered
GL - Grade Letter	GR - Grace	M.M. - Maximum Marks	** - TE not entered
CR - Credit Earned	UMC/U - Unfair Means Case	M" - Reval Marks	TMM - Total Max Marks
COMP. - Compartment	LCC - Late College Capacity		

**Grading :- Absolute Grading**

Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade
95% and above	10.0	S+	75 to less than 80 % Marks	8.0	O	55 to less than 60% Marks	6.0	B+
90 to less than 95% Marks	9.5	S	70 to less than 75% Marks	7.5	A++	50 to less than 55% Marks	5.5	B
85 to less than 90% Marks	9.0	O++	65 to less than 70% Marks	7.0	A+	40 to less than 50% Marks	5.0	C
80 to less than 85% Marks	8.5	O+	60 to less than 65% Marks	6.5	A	less than 40% Marks	0	F

**Candidate has to obtain 35% marks each in TE,CCA and 40% in Practical and 40% marks in aggregate to pass in a subject.**

**Course : BA( Regular Batch)**

**Year : Third**

**ExamYear : APRIL 2025**

**Date of Result Declaration : 13-June-2025**

**College Name : GOVT. COLLEGE CHAIL KOTI**

<b>UNIV ROLL NO : 1211930015</b>	<b>FATHER'S NAME : JAGDISH</b>										<b>MOTHER'S NAME : GUDDI</b>					<b>Exam Type : FRESH</b>											
<b>CAND.NAME : DISHA</b>																											
<b>REG NO : 21-CKS-15</b>																											
	<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	7.36	6.72	A++	PASS						
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	23	11	30	48	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00										
Theory of Indian Music ( MUSA307TH )	23	11	30	54	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00										
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	22	11	30	-	-	-	56	28	70	-	78	40	100	O	8.00	6	48.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00										
Democracy and Governance ( POLS 302 (A) )	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00										
Indian History and Culture ( HIST(A)317 )	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00										
Introduction to Indian Art ( HIST(A)319 )	25	11	30	52	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00										
										-	MO/MM- 563 / 800					TC-44	TCP - 324.00	Dis. -									
First Year: MO/MM- 466/800			TC- 44			TCP- 276.00			GPA- 6.27			Second Year: MO/MM- 494/800			TC- 44			TCP- 287.00			GPA- 6.52			<b>Grand Total: 1523</b>		<b>TMM: 2400</b>	

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1211930013 CAND.NAME : DEVINDER REG NO : 21-CKS-13			FATHER'S NAME : RAMA NAND							MOTHER'S NAME : SHAKUNTLA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music ( MUSA307TH )	18	11	30	47 <sup>^</sup>	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	6.95	6.30	A+	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	23	11	30	-	-	-	58	28	70	-	81	40	100	O+	8.50	6	51.00				
Recreation ( PED305TH )	21	11	30	36	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Methods of Teaching in Physical Education ( PED307TH )	22	11	30	41	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	46	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Social Stratification ( SOCL-A 305 )	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Social Demography ( SOCL-A 301 )	28	11	30	37 <sup>^</sup>	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Theory and Practice of Development ( SOCL-A 302 )	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										-	MO/MM- 530 / 800					TC-44	TCP - 306.00	Dis. -			
First Year: MO/MM- 418/800 TC- 44 TCP- 252.00 GPA- 5.73							Second Year: MO/MM- 466/800 TC- 44 TCP- 274.00 GPA- 6.23							<b>Grand Total: 1414</b>				<b>TMM: 2400</b>			

UNIV ROLL NO : 1211930025 CAND.NAME : NANCY VERMA REG NO : 21-CKS-25			FATHER'S NAME : SH.NARESH VERMA							MOTHER'S NAME : SMT.NISHA VERMA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Economy of Himachal Pradesh ( ECONA313 )	23	11	30	43 <sup>^</sup>	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	5.93	5.69	B+	PASS
Indian Economy ( ECONA314 )	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	10	5	15	20	12	35	-	-	-	-	30	20	50	A	6.50	3	19.50				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	8	5	15	-	-	-	20	14	35	-	28	20	50	B+	6.00	3	18.00				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	8	5	15	15	12	35	-	-	-	-	23	20	50	C	5.00	3	15.00				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	8	5	15	-	-	-	18	14	35	-	26	20	50	B	5.50	3	16.50				
Marriage, Family and Kinship ( SOCL-A 304 )	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Social Stratification ( SOCL-A 305 )	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Social Demography ( SOCL-A 301 )	26	11	30	29 <sup>^</sup>	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Theory and Practice of Development ( SOCL-A 302 )	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- 450 / 800					TC-44	TCP - 261.00	Dis. -			
First Year: MO/MM- 413/800 TC- 44 TCP- 247.50 GPA- 5.63							Second Year: MO/MM- 403/800 TC- 44 TCP- 242.50 GPA- 5.51							<b>Grand Total: 1266</b>				<b>TMM: 2400</b>			

UNIV ROLL NO : 1221790001 CAND.NAME : AASHISH THAKUR REG NO : 22-CSK-63			FATHER'S NAME : GULAB SINGH							MOTHER'S NAME : KANTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Indian Economy ( ECONA301 )	29	11	30	53	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00	7.80	7.50	O	PASS
Development Economics ( ECONA305 )	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	28	11	30	60	25	70	-	-	-	-	88	40	100	O++	9.00	6	54.00				
Polity and Society in India ( SOCL-A 307 )	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Economy and Society ( SOCL-A 308 )	29	11	30	45	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Public Finance ( ECONA310 )	28	11	30	43	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Money & Banking ( ECONA311 )	28	11	30	41	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										-	MO/MM- 601 / 800					TC-44	TCP - 343.00	Dis. -			
First Year: MO/MM- 563/800 TC- 44 TCP- 323.00 GPA- 7.34							Second Year: MO/MM- 564/800 TC- 44 TCP- 324.00 GPA- 7.36							<b>Grand Total: 1728</b>				<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790002 CAND.NAME : ABHISHEK REG NO : 22-CSK-55			FATHER'S NAME : YASHWANT SINGH							MOTHER'S NAME : NISHA VERMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00	7.68	7.15	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	57	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	28	11	30	37	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Economy and Society ( SOCL-A 308 )	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Indian History and Culture ( HIST(A)317 )	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00				
Introduction to Indian Art ( HIST(A)319 )	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 587 / 800					TC-44	TCP - 338.00	Dis. -			
First Year: MO/MM- 493/800 TC- 44 TCP- 289.00 GPA- 6.57							Second Year: MO/MM- 547/800 TC- 44 TCP- 317.00 GPA- 7.20							Grand Total: 1627				TMM: 2400			
UNIV ROLL NO : 1221790003 CAND.NAME : ABHISHEK NEGI REG NO : 22-CSK-57			FATHER'S NAME : DEVI LAL							MOTHER'S NAME : SAGAR MANI NEGI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music ( MUSA307TH )	15	11	30	43	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	5.84	-	B+	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	16	11	30	-	-	-	36	28	70	-	52	40	100	B	5.50	6	33.00				
Recreation ( PED305TH )	18	11	30	67	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Methods of Teaching in Physical Education ( PED307TH )	16	11	30	31	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Marriage, Family and Kinship ( SOCL-A 304 )	14	11	30	32	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Social Stratification ( SOCL-A 305 )	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Social Demography ( SOCL-A 301 )	16	11	30	33	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
Theory and Practice of Development ( SOCL-A 302 )	15	11	30	41	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- 435 / 800					TC-44	TCP - 257.00	Dis. -			
First Year: MO/MM- / TC- TCP- GPA-							Second Year: MO/MM- / TC- TCP- GPA-							Grand Total: -				TMM: 2400			
UNIV ROLL NO : 1221790004 CAND.NAME : ADARSH REG NO : 22-CSK-7			FATHER'S NAME : GAMBHEER							MOTHER'S NAME : USHA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	7	5	15	30	12	35	-	-	-	-	37	20	50	A++	7.50	3	22.50	7.00	6.57	A++	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	9	5	15	-	-	-	20	14	35	-	29	20	50	B+	6.00	3	18.00				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	9	5	15	35	12	35	-	-	-	-	44	20	50	O++	9.00	3	27.00				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	10	5	15	-	-	-	21	14	35	-	31	20	50	A	6.50	3	19.50				
Themes in Comparative Political Theory ( POLS 301 (A) )	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Polity and Society in India ( SOCL-A 307 )	19	11	30	38	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Economy and Society ( SOCL-A 308 )	18	11	30	53	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	24	11	30	46	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 532 / 800					TC-44	TCP - 308.00	Dis. -			
First Year: MO/MM- 488/800 TC- 44 TCP- 285.00 GPA- 6.48							Second Year: MO/MM- 475/800 TC- 44 TCP- 273.50 GPA- 6.22							Grand Total: 1495				TMM: 2400			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790005 CAND.NAME : AKSHAT SHARMA REG NO : 22-CSK-30			FATHER'S NAME : YAMUNA DUTT SHARMA							MOTHER'S NAME : LATA SHARMA							Exam Type : FRESH										
Paper Detail																											
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Theory of Indian Music ( MUSA307TH )	26	11	30	59	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	7.25	6.46	A++	PASS						
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	25	11	30	-	-	-	62	28	70	-	87	40	100	O++	9.00	6	54.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	23	11	30	50	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00										
Democracy and Governance ( POLS 302 (A) )	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00										
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	31	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00										
Social Stratification ( SOCL-A 305 )	28	11	30	35	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00										
Conflict and Peace Building ( POLS 304 )	28	11	30	31	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00										
Democratic Awareness Through Legal Literacy ( POLS- 303 )	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00										
										-	MO/MM- 555 / 800					TC-44	TCP - 319.00	Dis. -									
First Year: MO/MM- 432/800			TC- 44			TCP- 252.00			GPA- 5.73			Second Year: MO/MM- 490/800			TC- 44			TCP- 282.00			GPA- 6.41			Grand Total: 1477		TMM: 2400	
UNIV ROLL NO : 1221790006 CAND.NAME : AKSHIT REG NO : 22-CSK-31			FATHER'S NAME : YASHWANT SINGH							MOTHER'S NAME : RAMA THAKUR							Exam Type : FRESH										
Paper Detail																											
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Health Education and Nutrition ( PED309TH )	23	11	30	57	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	6.98	6.46	A+	PASS						
Yoga ( PED310TH )	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	30	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00										
Democracy and Governance ( POLS 302 (A) )	24	11	30	44	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00										
Marriage, Family and Kinship ( SOCL-A 304 )	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00										
Social Stratification ( SOCL-A 305 )	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00										
Conflict and Peace Building ( POLS 304 )	28	11	30	35	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00										
Democratic Awareness Through Legal Literacy ( POLS- 303 )	23	11	30	54	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00										
										-	MO/MM- 536 / 800					TC-44	TCP - 307.00	Dis. -									
First Year: MO/MM- 434/800			TC- 44			TCP- 256.00			GPA- 5.82			Second Year: MO/MM- 496/800			TC- 44			TCP- 290.00			GPA- 6.59			Grand Total: 1466		TMM: 2400	
UNIV ROLL NO : 1221790007 CAND.NAME : AMAN REG NO : 22-CSK-14			FATHER'S NAME : LAYAK RAM							MOTHER'S NAME : KRISHNA DEVI							Exam Type : FRESH										
Paper Detail																											
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00	7.80	7.22	O	PASS						
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00										
Democracy and Governance ( POLS 302 (A) )	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00										
Polity and Society in India ( SOCL-A 307 )	27	11	30	28	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00										
Economy and Society ( SOCL-A 308 )	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00										
Conflict and Peace Building ( POLS 304 )	29	11	30	37	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00										
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	60	25	70	-	-	-	-	89	40	100	O++	9.00	4	36.00										
										-	MO/MM- 598 / 800					TC-44	TCP - 343.00	Dis. -									
First Year: MO/MM- 525/800			TC- 44			TCP- 300.00			GPA- 6.82			Second Year: MO/MM- 541/800			TC- 44			TCP- 310.00			GPA- 7.05			Grand Total: 1664		TMM: 2400	

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790008 CAND.NAME : AMAN THAKUR REG NO : 22-CSK-27			FATHER'S NAME : SITA RAM							MOTHER'S NAME : SEEMA THAKUR							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Health Education and Nutrition ( PED309TH )	19	11	30	48	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	6.14	6.34	A	PASS
Yoga ( PED310TH )	16	11	30	38	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	19	11	30	43	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	19	11	30	36	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Marriage, Family and Kinship ( SOCL-A 304 )	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Social Stratification ( SOCL-A 305 )	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Conflict and Peace Building ( POLS 304 )	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- 470 / 800					TC-44	TCP - 270.00	Dis. -			
First Year: MO/MM- 471/800 TC- 44 TCP- 277.00 GPA- 6.30							Second Year: MO/MM- 493/800 TC- 44 TCP- 289.00 GPA- 6.57							<b>Grand Total: 1434</b>				<b>TMM: 2400</b>			
UNIV ROLL NO : 1221790009 CAND.NAME : ANAMIKA REG NO : 22-CSK-13			FATHER'S NAME : KRISHAN SINGH							MOTHER'S NAME : PUSHPA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Health Education and Nutrition ( PED309TH )	23	11	30	62	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	6.23	-	A	PASS
Yoga ( PED310TH )	22	11	30	38	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Democracy and Governance ( POLS 302 (A) )	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Marriage, Family and Kinship ( SOCL-A 304 )	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Social Stratification ( SOCL-A 305 )	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Conflict and Peace Building ( POLS 304 )	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- 466 / 800					TC-44	TCP - 274.00	Dis. -			
First Year: MO/MM- 407/800 TC- 44 TCP- 245.00 GPA- 5.57							Second Year: MO/MM- / TC- TCP- GPA-							<b>Grand Total: -</b>				<b>TMM: 2400</b>			
UNIV ROLL NO : 1221790010 CAND.NAME : ANITA VERMA REG NO : 22-CSK-58			FATHER'S NAME : NARENDER KUMAR							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Health Education and Nutrition ( PED309TH )	24	11	30	64	25	70	-	-	-	-	88	40	100	O++	9.00	6	54.00	8.16	7.36	O+	PASS
Yoga ( PED310TH )	22	11	30	51	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	26	11	30	44	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Social Stratification ( SOCL-A 305 )	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Social Demography ( SOCL-A 301 )	29	11	30	56	25	70	-	-	-	-	85	40	100	O++	9.00	4	36.00				
Theory and Practice of Development ( SOCL-A 302 )	30	11	30	63	25	70	-	-	-	-	93	40	100	S	9.50	4	38.00				
										-	MO/MM- 636 / 800					TC-44	TCP - 359.00	Dis. -			
First Year: MO/MM- 512/800 TC- 44 TCP- 291.00 GPA- 6.61							Second Year: MO/MM- 552/800 TC- 44 TCP- 321.00 GPA- 7.30							<b>Grand Total: 1700</b>				<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790011 CAND.NAME : ANJALI REG NO : 22-CSK-35			FATHER'S NAME : RAMESH KUMAR							MOTHER'S NAME : URMILA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Lok Sahitya ( HIND305 )	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	7.39	6.78	A++	PASS		
Chaayavadottar Hindi Kavita ( HIND306 )	24	11	30	44	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00						
Health Education and Nutrition ( PED309TH )	23	11	30	70	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00						
Yoga ( PED310TH )	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00						
Themes in Comparative Political Theory ( POLS 301 (A) )	19	11	30	37	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00						
Democracy and Governance ( POLS 302 (A) )	21	11	30	46	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00						
Rang Aalekh avum Rangmanch ( HIND301 )	24	11	30	58	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00						
Samachar Sankalan aur Lekhan ( HIND304 )	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00						
										-	MO/MM- 573 / 800					TC-44	TCP - 325.00	Dis. -					
First Year: MO/MM- 492/800 TC- 44 TCP- 292.00 GPA- 6.64							Second Year: MO/MM- / TC-							TCP-			GPA-			<b>Grand Total: 1554 TMM: 2400</b>			
UNIV ROLL NO : 1221790012 CAND.NAME : ANJALI THAKUR REG NO : 22-CSK-45			FATHER'S NAME : MOHAN SINGH							MOTHER'S NAME : SHEETAL							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00	8.27	7.41	O+	PASS		
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00						
Health Education and Nutrition ( PED309TH )	24	11	30	69	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00						
Yoga ( PED310TH )	20	11	30	53	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00						
Democracy and Governance ( POLS 302 (A) )	25	11	30	55	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00						
Indian History and Culture ( HIST(A)317 )	28	11	30	42	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00						
Introduction to Indian Art ( HIST(A)319 )	27	11	30	56	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00						
										-	MO/MM- 636 / 800					TC-44	TCP - 364.00	Dis. -					
First Year: MO/MM- 522/800 TC- 44 TCP- 302.00 GPA- 6.86							Second Year: MO/MM- 538/800 TC- 44 TCP- 312.00 GPA- 7.09							<b>Grand Total: 1696 TMM: 2400</b>									
UNIV ROLL NO : 1221790013 CAND.NAME : ANJNA REG NO : 22-CSK-48			FATHER'S NAME : PURAN CHAND							MOTHER'S NAME : LALITA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	27	11	30	58	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	8.70	8.08	O++	PASS		
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	49	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00						
Health Education and Nutrition ( PED309TH )	26	11	30	68	25	70	-	-	-	-	94	40	100	S	9.50	6	57.00						
Yoga ( PED310TH )	25	11	30	59	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00						
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00						
Democracy and Governance ( POLS 302 (A) )	29	11	30	56	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00						
Indian History and Culture ( HIST(A)317 )	28	11	30	57	25	70	-	-	-	-	85	40	100	O++	9.00	4	36.00						
Introduction to Indian Art ( HIST(A)319 )	27	11	30	63	25	70	-	-	-	-	90	40	100	S	9.50	4	38.00						
										-	MO/MM- 672 / 800					TC-44	TCP - 383.00	Dis. -					
First Year: MO/MM- 628/800 TC- 44 TCP- 359.00 GPA- 8.16							Second Year: MO/MM- 571/800 TC- 44 TCP- 325.00 GPA- 7.39							<b>Grand Total: 1871 TMM: 2400</b>									

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790014 CAND.NAME : ATUL VERMA REG NO : 22-CSK-37			FATHER'S NAME : DALEEP KUMAR							MOTHER'S NAME : SANTOSH KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	24	11	30	54	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	7.89	7.33	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	24	11	30	47	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Theory of Indian Music ( MUSA307TH )	18	11	30	66	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	17	11	30	-	-	-	41	28	70	-	58	40	100	B+	6.00	6	36.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Democracy and Governance ( POLS 302 (A) )	27	11	30	57	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Indian History and Culture ( HIST(A)317 )	23	11	30	60	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00				
Introduction to Indian Art ( HIST(A)319 )	24	11	30	57	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 614 / 800					TC-44	TCP - 347.00	Dis. -			
First Year: MO/MM- 524/800 TC- 44 TCP- 304.00 GPA- 6.91							Second Year: MO/MM- 558/800 TC- 44 TCP- 317.00 GPA- 7.20							Grand Total: 1696				TMM: 2400			
UNIV ROLL NO : 1221790015 CAND.NAME : AYUSH REG NO : 22-CSK-12			FATHER'S NAME : KARAM SINGH							MOTHER'S NAME : KAMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music ( MUSA307TH )	16	11	30	65	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	7.20	-	A++	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	18	11	30	-	-	-	43	28	70	-	61	40	100	A	6.50	6	39.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	30	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	53	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Marriage, Family and Kinship ( SOCL-A 304 )	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Social Stratification ( SOCL-A 305 )	23	11	30	50	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00				
										-	MO/MM- 554 / 800					TC-44	TCP - 317.00	Dis. -			
First Year: MO/MM- 417/800 TC- 44 TCP- 253.00 GPA- 5.75							Second Year: MO/MM- / TC- TCP- GPA-							Grand Total: -				TMM: 2400			
UNIV ROLL NO : 1221790017 CAND.NAME : DINKAR REG NO : 22-CSK-51			FATHER'S NAME : RAJESH							MOTHER'S NAME : VIDYA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	24	11	30	47	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00	7.64	7.41	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	21	11	30	57	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Polity and Society in India ( SOCL-A 307 )	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Economy and Society ( SOCL-A 308 )	25	11	30	61	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Indian History and Culture ( HIST(A)317 )	24	11	30	43	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Introduction to Indian Art ( HIST(A)319 )	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 578 / 800					TC-44	TCP - 336.00	Dis. -			
First Year: MO/MM- 557/800 TC- 44 TCP- 319.00 GPA- 7.25							Second Year: MO/MM- 562/800 TC- 44 TCP- 323.00 GPA- 7.34							Grand Total: 1697				TMM: 2400			

UNIV ROLL NO : 1221790019 CAND.NAME : GEETANJALI REG NO : 22-CSK-19			FATHER'S NAME : RAJENDER SINGH							MOTHER'S NAME : TARAVATI							Exam Type : FRESH										
Paper Detail																											
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Health Education and Nutrition ( PED309TH )	23	11	30	67	25	70	-	-	-	-	90	40	100	S	9.50	6	57.00	7.77	6.92	O	PASS						
Yoga ( PED310TH )	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00										
Democracy and Governance ( POLS 302 (A) )	24	11	30	48	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00										
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00										
Social Stratification ( SOCL-A 305 )	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00										
Conflict and Peace Building ( POLS 304 )	28	11	30	30	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00										
Democratic Awareness Through Legal Literacy ( POLS- 303 )	26	11	30	60	25	70	-	-	-	-	86	40	100	O++	9.00	4	36.00										
										-	MO/MM- 592 / 800					TC-44	TCP - 342.00	Dis. -									
First Year: MO/MM- 499/800			TC- 44			TCP- 289.00			GPA- 6.57			Second Year: MO/MM- 483/800			TC- 44			TCP- 282.00			GPA- 6.41			Grand Total: 1574		TMM: 2400	
UNIV ROLL NO : 1221790020 CAND.NAME : HARSHITA REG NO : 22-CSK-42			FATHER'S NAME : KISHAN CHAND							MOTHER'S NAME : NISHA							Exam Type : FRESH										
Paper Detail																											
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	26	11	30	59	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	8.59	7.99	O++	PASS						
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00										
Health Education and Nutrition ( PED309TH )	26	11	30	61	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00										
Yoga ( PED310TH )	26	11	30	59	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	27	11	30	54	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00										
Democracy and Governance ( POLS 302 (A) )	28	11	30	61	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00										
Indian History and Culture ( HIST(A)317 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00										
Introduction to Indian Art ( HIST(A)319 )	26	11	30	57	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00										
										-	MO/MM- 658 / 800					TC-44	TCP - 378.00	Dis. -									
First Year: MO/MM- 580/800			TC- 44			TCP- 331.00			GPA- 7.52			Second Year: MO/MM- 605/800			TC- 44			TCP- 346.00			GPA- 7.86			Grand Total: 1843		TMM: 2400	
UNIV ROLL NO : 1221790021 CAND.NAME : HIMANSHU REG NO : 22-CSK-33			FATHER'S NAME : KRISHAN DUTT							MOTHER'S NAME : BEENA DEVI							Exam Type : FRESH										
Paper Detail																											
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status						
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M														
Lok Sahitya ( HIND305 )	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	7.43	6.80	A++	PASS						
Chaayavadottar Hindi Kavita ( HIND306 )	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00										
Health Education and Nutrition ( PED309TH )	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00										
Yoga ( PED310TH )	20	11	30	51	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00										
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00										
Democracy and Governance ( POLS 302 (A) )	26	11	30	57	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00										
Rang Aalekh avum Rangmanch ( HIND301 )	23	11	30	53	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00										
Samachar Sankalan aur Lekhan ( HIND304 )	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00										
										-	MO/MM- 567 / 800					TC-44	TCP - 327.00	Dis. -									
First Year: MO/MM- 497/800			TC- 44			TCP- 288.00			GPA- 6.55			Second Year: MO/MM- 481/800			TC- 44			TCP- 283.00			GPA- 6.43			Grand Total: 1545		TMM: 2400	

UNIV ROLL NO : 1221790022 CAND.NAME : HIMANSHU NEGI REG NO : 22-CSK-61			FATHER'S NAME : DEVI LAL NEGI							MOTHER'S NAME : SAGAR MANI NEGI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Matrices ( MATH301 )	30	11	30	29	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.73	-	A+	PASS
Numerical Methods ( MATH304 )	27	11	30	29	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Health Education and Nutrition ( PED309TH )	19	11	30	60	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Yoga ( PED310TH )	16	11	30	44	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Marriage, Family and Kinship ( SOCL-A 304 )	22	11	30	45	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Social Stratification ( SOCL-A 305 )	22	11	30	40	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Social Demography ( SOCL-A 301 )	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
Theory and Practice of Development ( SOCL-A 302 )	23	11	30	48	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
										-	MO/MM- 518 / 800					TC-44	TCP - 296.00	Dis. -			
First Year: MO/MM- 395/800 TC- 44 TCP- 239.00 GPA- 5.43				Second Year: MO/MM- / TC-						TCP- GPA-				Grand Total: - TMM: 2400							
UNIV ROLL NO : 1221790023 CAND.NAME : ISHITA REG NO : 22-CSK-4			FATHER'S NAME : CHUNNI LAL							MOTHER'S NAME : PARWATI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	6.91	6.57	A+	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	20	11	30	43	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	35	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Democracy and Governance ( POLS 302 (A) )	25	11	30	55	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Economy and Society ( SOCL-A 308 )	23	11	30	53	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	28	11	30	37	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- 523 / 800					TC-44	TCP - 304.00	Dis. -			
First Year: MO/MM- 462/800 TC- 44 TCP- 272.00 GPA- 6.18				Second Year: MO/MM- 502/800 TC- 44 TCP- 291.00 GPA- 6.61						Grand Total: 1487 TMM: 2400											
UNIV ROLL NO : 1221790025 CAND.NAME : JITENDER THAKUR REG NO : 22-CSK-28			FATHER'S NAME : SWAROOP THAKUR							MOTHER'S NAME : USHA THAKUR							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	7.00	7.02	A++	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	21	11	30	47	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Polity and Society in India ( SOCL-A 307 )	28	11	30	27	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Economy and Society ( SOCL-A 308 )	27	11	30	53	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Conflict and Peace Building ( POLS 304 )	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 544 / 800					TC-44	TCP - 308.00	Dis. -			
First Year: MO/MM- 537/800 TC- 44 TCP- 307.00 GPA- 6.98				Second Year: MO/MM- 546/800 TC- 44 TCP- 312.00 GPA- 7.09						Grand Total: 1627 TMM: 2400											

UNIV ROLL NO : 1221790028 CAND.NAME : MAMTA REG NO : 22-CSK-22			FATHER'S NAME : RATTI RAM							MOTHER'S NAME : SATYA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	25	11	30	55	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	8.07	7.05	O+	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Health Education and Nutrition ( PED309TH )	22	11	30	64	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Yoga ( PED310TH )	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	51	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Democracy and Governance ( POLS 302 (A) )	23	11	30	45	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Conflict and Peace Building ( POLS 304 )	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	4	34.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	26	11	30	60	25	70	-	-	-	-	86	40	100	O++	9.00	4	36.00				
										-	MO/MM- 619 / 800					TC-44	TCP - 355.00	Dis. -			
First Year: MO/MM- 499/800 TC- 44 TCP- 287.00 GPA- 6.52							Second Year: MO/MM- 503/800 TC- 44 TCP- 288.00 GPA- 6.55							Grand Total: 1621 TMM: 2400							
UNIV ROLL NO : 1221790029 CAND.NAME : MEHTENDER REG NO : 22-CSK-26			FATHER'S NAME : SEWAK RAM							MOTHER'S NAME : SHEELA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	27	11	30	60	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00	8.52	7.88	O++	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	56	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Democracy and Governance ( POLS 302 (A) )	29	11	30	53	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	29	11	30	39	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Economy and Society ( SOCL-A 308 )	29	11	30	57	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Indian History and Culture ( HIST(A)317 )	28	11	30	64	25	70	-	-	-	-	92	40	100	S	9.50	4	38.00				
Introduction to Indian Art ( HIST(A)319 )	28	11	30	56	25	70	-	-	-	-	84	40	100	O+	8.50	4	34.00				
										-	MO/MM- 659 / 800					TC-44	TCP - 375.00	Dis. -			
First Year: MO/MM- 586/800 TC- 44 TCP- 339.00 GPA- 7.70							Second Year: MO/MM- 571/800 TC- 44 TCP- 326.00 GPA- 7.41							Grand Total: 1816 TMM: 2400							
UNIV ROLL NO : 1221790032 CAND.NAME : NIRMLA REG NO : 22-CSK-39			FATHER'S NAME : GULAB SINGH							MOTHER'S NAME : SNAHRU DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	7.68	6.93	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Health Education and Nutrition ( PED309TH )	24	11	30	57	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Yoga ( PED310TH )	18	11	30	55	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Social Stratification ( SOCL-A 305 )	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Indian History and Culture ( HIST(A)317 )	25	11	30	46	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Introduction to Indian Art ( HIST(A)319 )	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 589 / 800					TC-44	TCP - 338.00	Dis. -			
First Year: MO/MM- 447/800 TC- 44 TCP- 261.00 GPA- 5.93							Second Year: MO/MM- 541/800 TC- 44 TCP- 316.00 GPA- 7.18							Grand Total: 1577 TMM: 2400							

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790033 CAND.NAME : NITESH THAKUR REG NO : 22-CSK-11			FATHER'S NAME : KANSHI RAM							MOTHER'S NAME : ANITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Economy of Himachal Pradesh ( ECONA313 )	27	11	30	59	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00	8.11	7.48	O+	PASS
Indian Economy ( ECONA314 )	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	42	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Marriage, Family and Kinship ( SOCL-A 304 )	30	11	30	40	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Social Stratification ( SOCL-A 305 )	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	62	25	70	-	-	-	-	91	40	100	S	9.50	4	38.00				
										-	MO/MM- 624 / 800					TC-44	TCP - 357.00	Dis. -			
First Year: MO/MM- 505/800 TC- 44 TCP- 296.00 GPA- 6.73							Second Year: MO/MM- 584/800 TC- 44 TCP- 334.00 GPA- 7.59							Grand Total: 1713				TMM: 2400			
UNIV ROLL NO : 1221790034 CAND.NAME : PARIKSHA REG NO : 22-CSK-25			FATHER'S NAME : SANT RAM							MOTHER'S NAME : RADHA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	23	11	30	49	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	7.84	7.32	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Health Education and Nutrition ( PED309TH )	24	11	30	69	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00				
Yoga ( PED310TH )	22	11	30	54	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	28	11	30	43	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	4	32.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	55	25	70	-	-	-	-	84	40	100	O+	8.50	4	34.00				
										-	MO/MM- 612 / 800					TC-44	TCP - 345.00	Dis. -			
First Year: MO/MM- 519/800 TC- 44 TCP- 303.00 GPA- 6.89							Second Year: MO/MM- 557/800 TC- 44 TCP- 318.00 GPA- 7.23							Grand Total: 1688				TMM: 2400			
UNIV ROLL NO : 1221790035 CAND.NAME : PAYAL BHARDWAJ REG NO : 22-CSK-50			FATHER'S NAME : RAJENDER							MOTHER'S NAME : RITU DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	7.02	6.25	A++	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	22	11	30	52	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	21	11	30	30	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	19	11	30	39	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Health Education and Nutrition ( PED309TH )	24	11	30	69	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00				
Yoga ( PED310TH )	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Indian History and Culture ( HIST(A)317 )	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
Introduction to Indian Art ( HIST(A)319 )	21	11	30	55	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 537 / 800					TC-44	TCP - 309.00	Dis. -			
First Year: MO/MM- 439/800 TC- 44 TCP- 258.00 GPA- 5.86							Second Year: MO/MM- 441/800 TC- 44 TCP- 258.00 GPA- 5.86							Grand Total: 1417				TMM: 2400			

UNIV ROLL NO : 1221790036 CAND.NAME : PRIYA REG NO : 22-CSK-6			FATHER'S NAME : DEVINDER							MOTHER'S NAME : BIMLA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Health Education and Nutrition ( PED309TH )	22	11	30	56	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	7.16	6.32	A++	PASS
Yoga ( PED310TH )	20	11	30	48	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Democracy and Governance ( POLS 302 (A) )	21	11	30	39	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	47	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Social Stratification ( SOCL-A 305 )	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Conflict and Peace Building ( POLS 304 )	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 544 / 800					TC-44	TCP - 315.00	Dis. -			
First Year: MO/MM- 422/800 TC- 44 TCP- 246.00 GPA- 5.59							Second Year: MO/MM- 457/800 TC- 44 TCP- 273.00 GPA- 6.20							Grand Total: 1423				TMM: 2400			
UNIV ROLL NO : 1221790037 CAND.NAME : PRIYANSHI BHARDWAJ REG NO : 22-CSK-44			FATHER'S NAME : MOHAN LAL							MOTHER'S NAME : ANITA BHARDWAJ							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Economy of Himachal Pradesh ( ECONA313 )	27	11	30	58	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	8.59	7.91	O++	PASS
Indian Economy ( ECONA314 )	29	11	30	57	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	29	11	30	60	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	44	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	28	11	30	63	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00				
Indian History and Culture ( HIST(A)317 )	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00				
Introduction to Indian Art ( HIST(A)319 )	28	11	30	61	25	70	-	-	-	-	89	40	100	O++	9.00	4	36.00				
										-	MO/MM- 665 / 800					TC-44	TCP - 378.00	Dis. -			
First Year: MO/MM- 578/800 TC- 44 TCP- 334.00 GPA- 7.59							Second Year: MO/MM- 572/800 TC- 44 TCP- 332.00 GPA- 7.55							Grand Total: 1815				TMM: 2400			
UNIV ROLL NO : 1221790039 CAND.NAME : RAHUL REG NO : 22-CSK-47			FATHER'S NAME : OM PRAKASH							MOTHER'S NAME : LEELA VATI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Economy of Himachal Pradesh ( ECONA313 )	27	11	30	54	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	7.93	6.92	O	PASS
Indian Economy ( ECONA314 )	28	11	30	56	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	22	11	30	49	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	23	11	30	49	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	26	11	30	58	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Indian History and Culture ( HIST(A)317 )	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
Introduction to Indian Art ( HIST(A)319 )	23	11	30	54	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 610 / 800					TC-44	TCP - 349.00	Dis. -			
First Year: MO/MM- 464/800 TC- 44 TCP- 275.00 GPA- 6.25							Second Year: MO/MM- 501/800 TC- 44 TCP- 289.00 GPA- 6.57							Grand Total: 1575				TMM: 2400			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790040 CAND.NAME : RIMA REG NO : 22-CSK-16			FATHER'S NAME : NARENDER KUMAR							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Health Education and Nutrition ( PED309TH )	24	11	30	69	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00	7.77	7.22	O	PASS
Yoga ( PED310TH )	23	11	30	45	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	40	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Social Stratification ( SOCL-A 305 )	27	11	30	48	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00				
										-	MO/MM- 599 / 800					TC-44	TCP - 342.00	Dis. -			
First Year: MO/MM- 487/800 TC- 44 TCP- 289.00 GPA- 6.57							Second Year: MO/MM- 562/800 TC- 44 TCP- 322.00 GPA- 7.32							Grand Total: 1648				TMM: 2400			
UNIV ROLL NO : 1221790042 CAND.NAME : RITIKA REG NO : 22-CSK-18			FATHER'S NAME : PARMA NAND							MOTHER'S NAME : GAYATRI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	24	11	30	51	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00	7.84	7.23	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	23	11	30	42	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Health Education and Nutrition ( PED309TH )	25	11	30	62	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00				
Yoga ( PED310TH )	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	29	11	30	38	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	61	25	70	-	-	-	-	90	40	100	S	9.50	4	38.00				
										-	MO/MM- 606 / 800					TC-44	TCP - 345.00	Dis. -			
First Year: MO/MM- 521/800 TC- 44 TCP- 302.00 GPA- 6.86							Second Year: MO/MM- 526/800 TC- 44 TCP- 307.00 GPA- 6.98							Grand Total: 1653				TMM: 2400			
UNIV ROLL NO : 1221790043 CAND.NAME : ROHAN THAKUR REG NO : 22-CSK-59			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : RAKSHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music ( MUSA307TH )	20	11	30	61	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	7.57	6.41	O	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	21	11	30	-	-	-	51	28	70	-	72	40	100	A++	7.50	6	45.00				
Recreation ( PED305TH )	24	11	30	66	25	70	-	-	-	-	90	40	100	S	9.50	6	57.00				
Methods of Teaching in Physical Education ( PED307TH )	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Marriage, Family and Kinship ( SOCL-A 304 )	23	11	30	50	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Social Stratification ( SOCL-A 305 )	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Social Demography ( SOCL-A 301 )	18	11	30	45	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
Theory and Practice of Development ( SOCL-A 302 )	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										-	MO/MM- 573 / 800					TC-44	TCP - 333.00	Dis. -			
First Year: MO/MM- 414/800 TC- 44 TCP- 251.00 GPA- 5.70							Second Year: MO/MM- 437/800 TC- 44 TCP- 262.00 GPA- 5.95							Grand Total: 1424				TMM: 2400			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790044 CAND.NAME : ROHIT REG NO : 22-CSK-54			FATHER'S NAME : SANT RAM							MOTHER'S NAME : SHEELA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	7.05	6.43	A++	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	22	11	30	47	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Health Education and Nutrition ( PED309TH )	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Yoga ( PED310TH )	21	11	30	51	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	21	11	30	46	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Indian History and Culture ( HIST(A)317 )	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Introduction to Indian Art ( HIST(A)319 )	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00				
										-	MO/MM- 544 / 800					TC-44	TCP - 310.00	Dis. -			
First Year: MO/MM- 461/800 TC- 44 TCP- 275.00 GPA- 6.25							Second Year: MO/MM- 443/800 TC- 44 TCP- 263.00 GPA- 5.98							Grand Total: 1448 TMM: 2400							
UNIV ROLL NO : 1221790045 CAND.NAME : ROHIT SHARMA REG NO : 22-CSK-24			FATHER'S NAME : SANJAY SHARMA							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music ( MUSA307TH )	17	11	30	55	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	6.91	6.34	A+	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA308PR )	18	11	30	-	-	-	38	28	70	-	56	40	100	B+	6.00	6	36.00				
Recreation ( PED305TH )	23	11	30	62	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Methods of Teaching in Physical Education ( PED307TH )	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	21	11	30	41	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	22	11	30	45	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Conflict and Peace Building ( POLS 304 )	24	11	30	34	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										-	MO/MM- 528 / 800					TC-44	TCP - 304.00	Dis. -			
First Year: MO/MM- 459/800 TC- 44 TCP- 269.00 GPA- 6.11							Second Year: MO/MM- 452/800 TC- 44 TCP- 264.00 GPA- 6.00							Grand Total: 1439 TMM: 2400							
UNIV ROLL NO : 1221790047 CAND.NAME : SACHIN REG NO : 22-CSK-10			FATHER'S NAME : JAGAT RAM							MOTHER'S NAME : NARDA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	23	11	30	33	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	7.66	7.34	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	23	11	30	48	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Democracy and Governance ( POLS 302 (A) )	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	28	11	30	44	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Economy and Society ( SOCL-A 308 )	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	60	25	70	-	-	-	-	89	40	100	O++	9.00	4	36.00				
										-	MO/MM- 591 / 800					TC-44	TCP - 337.00	Dis. -			
First Year: MO/MM- 513/800 TC- 44 TCP- 301.00 GPA- 6.84							Second Year: MO/MM- 584/800 TC- 44 TCP- 331.00 GPA- 7.52							Grand Total: 1688 TMM: 2400							

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790048 CAND.NAME : SAURAV REG NO : 22-CSK-64			FATHER'S NAME : MANSA RAM							MOTHER'S NAME : RUPA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	8	5	15	27	12	35	-	-	-	-	35	20	50	A++	7.50	3	22.50	6.39	6.14	A	PASS		
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	8	5	15	-	-	-	19	14	35	-	27	20	50	B	5.50	3	16.50						
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	7	5	15	30	12	35	-	-	-	-	37	20	50	A++	7.50	3	22.50						
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	8	5	15	-	-	-	18	14	35	-	26	20	50	B	5.50	3	16.50						
Health Education and Nutrition ( PED309TH )	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00						
Yoga ( PED310TH )	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
Marriage, Family and Kinship ( SOCL-A 304 )	27	11	30	44	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00						
Social Stratification ( SOCL-A 305 )	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Value Based & Practical Oriented Course for Hindustani Music(Presentation & Documentation-II) ( MUSA301PR )	8	5	15	-	-	-	19	14	35	-	27	20	50	B	5.50	4	22.00						
Value Based & Practical Oriented Course for Hindustani Music(Presentation & Documentation-II) ( MUSA302PR )	9	5	15	-	-	-	17	14	35	-	26	20	50	B	5.50	4	22.00						
										-	MO/MM- 432 / 700					TC-44	TCP - 281.00	Dis. -					
First Year: MO/MM- 427/800 TC- 44 TCP- 257.00 GPA- 5.84							Second Year: MO/MM- 399/700 TC- 44 TCP- 272.50 GPA- 6.19							Grand Total: 1258 TMM: 2200									
UNIV ROLL NO : 1221790049 CAND.NAME : SHIKHA SHARMA REG NO : 22-CSK-53			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : RAM KALI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00	7.70	6.54	O	PASS		
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00						
Health Education and Nutrition ( PED309TH )	24	11	30	52	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00						
Yoga ( PED310TH )	21	11	30	51	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00						
Themes in Comparative Political Theory ( POLS 301 (A) )	24	11	30	52	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00						
Democracy and Governance ( POLS 302 (A) )	22	11	30	60	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00						
Indian History and Culture ( HIST(A)317 )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	4	30.00						
Introduction to Indian Art ( HIST(A)319 )	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00						
										-	MO/MM- 589 / 800					TC-44	TCP - 339.00	Dis. -					
First Year: MO/MM- 449/800 TC- 44 TCP- 258.00 GPA- 5.86							Second Year: MO/MM- 454/800 TC- 44 TCP- 267.00 GPA- 6.07							Grand Total: 1492 TMM: 2400									
UNIV ROLL NO : 1221790050 CAND.NAME : SHIVANI REG NO : 22-CSK-29			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : SARITA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	25	11	30	49	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	7.50	7.51	O	PASS		
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	24	11	30	46	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00						
Health Education and Nutrition ( PED309TH )	24	11	30	49	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
Yoga ( PED310TH )	23	11	30	45	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00						
Themes in Comparative Political Theory ( POLS 301 (A) )	27	11	30	39	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00						
Democracy and Governance ( POLS 302 (A) )	27	11	30	53	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00						
Conflict and Peace Building ( POLS 304 )	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00						
Democratic Awareness Through Legal Literacy ( POLS- 303 )	22	11	30	52	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00						
										-	MO/MM- 576 / 800					TC-44	TCP - 330.00	Dis. -					
First Year: MO/MM- 540/800 TC- 44 TCP- 313.00 GPA- 7.11							Second Year: MO/MM- 608/800 TC- 44 TCP- 348.00 GPA- 7.91							Grand Total: 1724 TMM: 2400									

UNIV ROLL NO : 1221790051 CAND.NAME : SHIVANI REG NO : 22-CSK-9			FATHER'S NAME : INDER SINGH							MOTHER'S NAME : SHAKUNTLA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	10	5	15	29	12	35	-	-	-	-	39	20	50	O	8.00	3	24.00	6.66	6.51	A+	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	10	5	15	-	-	-	23	14	35	-	33	20	50	A+	7.00	3	21.00				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	8	5	15	29	12	35	-	-	-	-	37	20	50	A++	7.50	3	22.50				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	11	5	15	-	-	-	24	14	35	-	35	20	50	A++	7.50	3	22.50				
Health Education and Nutrition ( PED309TH )	23	11	30	54	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Yoga ( PED310TH )	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	19	11	30	35	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Democracy and Governance ( POLS 302 (A) )	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Conflict and Peace Building ( POLS 304 )	24	11	30	34	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	22	11	30	40	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 511 / 800					TC-44	TCP - 293.00	Dis. -			
First Year: MO/MM- 481/800 TC- 44 TCP- 284.50 GPA- 6.47							Second Year: MO/MM- 492/800 TC- 44 TCP- 282.00 GPA- 6.41							Grand Total: 1484				TMM: 2400			

UNIV ROLL NO : 1221790052 CAND.NAME : SHRUTI REG NO : 22-CSK-2			FATHER'S NAME : BHAGAT RAM							MOTHER'S NAME : KAMLESH							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	11	5	15	31	12	35	-	-	-	-	42	20	50	O+	8.50	3	25.50	7.09	6.70	A++	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	11	5	15	-	-	-	24	14	35	-	35	20	50	A++	7.50	3	22.50				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	10	5	15	31	12	35	-	-	-	-	41	20	50	O+	8.50	3	25.50				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	12	5	15	-	-	-	25	14	35	-	37	20	50	A++	7.50	3	22.50				
Health Education and Nutrition ( PED309TH )	21	11	30	52	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Yoga ( PED310TH )	19	11	30	52	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Conflict and Peace Building ( POLS 304 )	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 543 / 800					TC-44	TCP - 312.00	Dis. -			
First Year: MO/MM- 511/800 TC- 44 TCP- 297.50 GPA- 6.76							Second Year: MO/MM- 478/800 TC- 44 TCP- 275.00 GPA- 6.25							Grand Total: 1532				TMM: 2400			

UNIV ROLL NO : 1221790053 CAND.NAME : SHUBHAM REG NO : 22-CSK-40			FATHER'S NAME : HIRA SINGH							MOTHER'S NAME : SEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00	7.70	6.95	O	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	24	11	30	36	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	52	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Polity and Society in India ( SOCL-A 307 )	29	11	30	35	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Economy and Society ( SOCL-A 308 )	30	11	30	60	25	70	-	-	-	-	90	40	100	S	9.50	6	57.00				
Indian History and Culture ( HIST(A)317 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
Introduction to Indian Art ( HIST(A)319 )	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 594 / 800					TC-44	TCP - 339.00	Dis. -			
First Year: MO/MM- 508/800 TC- 44 TCP- 293.00 GPA- 6.66							Second Year: MO/MM- 486/800 TC- 44 TCP- 285.00 GPA- 6.48							Grand Total: 1588				TMM: 2400			

UNIV ROLL NO : 1221790054 CAND.NAME : SHUBHAM REG NO : 22-CSK-38			FATHER'S NAME : DALIP SINGH							MOTHER'S NAME : SHARDA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	17	11	30	32	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.61	5.55	B+	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	17	11	30	40	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Health Education and Nutrition ( PED309TH )	16	11	30	41	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Yoga ( PED310TH )	15	11	30	46	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Rang Aalekh avum Rangmanch ( HIND301 )	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00				
Samachar Sankalan aur Lekhan ( HIND304 )	17	11	30	29	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- 415 / 800					TC-44	TCP - 247.00	Dis. -			
First Year: MO/MM- 428/800 TC- 44 TCP- 249.00 GPA- 5.66						Second Year: MO/MM- 396/800 TC- 44 TCP- 237.00 GPA- 5.39						<b>Grand Total: 1239</b>				<b>TMM: 2400</b>					
UNIV ROLL NO : 1221790056 CAND.NAME : SONIA REG NO : 22-CSK-60			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : SUBHDRA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Health Education and Nutrition ( PED309TH )	25	11	30	60	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	8.07	7.07	O+	PASS
Yoga ( PED310TH )	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Marriage, Family and Kinship ( SOCL-A 304 )	30	11	30	50	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Social Stratification ( SOCL-A 305 )	29	11	30	55	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Social Demography ( SOCL-A 301 )	28	11	30	60	25	70	-	-	-	-	88	40	100	O++	9.00	4	36.00				
Theory and Practice of Development ( SOCL-A 302 )	30	11	30	52	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00				
										-	MO/MM- 622 / 800					TC-44	TCP - 355.00	Dis. -			
First Year: MO/MM- 466/800 TC- 44 TCP- 274.00 GPA- 6.23						Second Year: MO/MM- 527/800 TC- 44 TCP- 304.00 GPA- 6.91						<b>Grand Total: 1615</b>				<b>TMM: 2400</b>					
UNIV ROLL NO : 1221790057 CAND.NAME : SONIYA REG NO : 22-CSK-8			FATHER'S NAME : HARI RAM							MOTHER'S NAME : SHAKUNTLA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	22	11	30	39	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	7.18	6.72	A++	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Health Education and Nutrition ( PED309TH )	23	11	30	50	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Yoga ( PED310TH )	22	11	30	52	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	23	11	30	43	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	21	11	30	50	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
										-	MO/MM- 551 / 800					TC-44	TCP - 316.00	Dis. -			
First Year: MO/MM- 465/800 TC- 44 TCP- 271.00 GPA- 6.16						Second Year: MO/MM- 520/800 TC- 44 TCP- 300.00 GPA- 6.82						<b>Grand Total: 1536</b>				<b>TMM: 2400</b>					

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221790058 CAND.NAME : SUHANI REG NO : 22-CSK-56			FATHER'S NAME : CHANDER SINGH							MOTHER'S NAME : SUMITRA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	7.11	-	A++	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	22	11	30	38	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Health Education and Nutrition ( PED309TH )	23	11	30	57	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Yoga ( PED310TH )	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Marriage, Family and Kinship ( SOCL-A 304 )	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Social Stratification ( SOCL-A 305 )	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Social Demography ( SOCL-A 301 )	21	11	30	47	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
Theory and Practice of Development ( SOCL-A 302 )	25	11	30	61	25	70	-	-	-	-	86	40	100	O++	9.00	4	36.00				
										-	MO/MM- 548 / 800					TC-44	TCP - 313.00	Dis. -			
First Year: MO/MM- 408/800 TC- 44 TCP- 245.00 GPA- 5.57							Second Year: MO/MM- / TC- TCP- GPA-							Grand Total: - TMM: 2400							
UNIV ROLL NO : 1221790059 CAND.NAME : SUNAKSHI REG NO : 22-CSK-43			FATHER'S NAME : LAYAK RAM							MOTHER'S NAME : CHAMPA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Economy of Himachal Pradesh ( ECONA313 )	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	7.82	7.59	O	PASS
Indian Economy ( ECONA314 )	28	11	30	56	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	29	11	30	60	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Matrices ( MATH301 )	30	11	30	27	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Numerical Methods ( MATH304 )	28	11	30	32	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Indian History and Culture ( HIST(A)317 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
Introduction to Indian Art ( HIST(A)319 )	28	11	30	60	25	70	-	-	-	-	88	40	100	O++	9.00	4	36.00				
										-	MO/MM- 613 / 800					TC-44	TCP - 344.00	Dis. -			
First Year: MO/MM- 537/800 TC- 44 TCP- 309.00 GPA- 7.02							Second Year: MO/MM- 611/800 TC- 44 TCP- 349.00 GPA- 7.93							Grand Total: 1761 TMM: 2400							
UNIV ROLL NO : 1221790060 CAND.NAME : TAMANNA REG NO : 22-CSK-49			FATHER'S NAME : PUSHPENDER							MOTHER'S NAME : ROOPA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	20	11	30	33	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (POLS- 303)
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	19	11	30	37	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Health Education and Nutrition ( PED309TH )	24	11	30	53	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Yoga ( PED310TH )	22	11	30	34	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Democracy and Governance ( POLS 302 (A) )	20	11	30	39	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Conflict and Peace Building ( POLS 304 )	19	11	30	37	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	21	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 445/800 TC- 44 TCP- 262.00 GPA- 5.95							Second Year: MO/MM- 457/800 TC- 44 TCP- 266.00 GPA- 6.05							Grand Total: - TMM: 2400							

UNIV ROLL NO : 1221790061 CAND.NAME : TAMANNA REG NO : 22-CSK-34			FATHER'S NAME : OM PRAKASH							MOTHER'S NAME : KANTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	27	11	30	43	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	7.68	7.57	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	27	11	30	54	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Economy and Society ( SOCL-A 308 )	22	11	30	59	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Conflict and Peace Building ( POLS 304 )	29	11	30	47	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	41	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 585 / 800					TC-44	TCP - 338.00	Dis. -			
First Year: MO/MM- 536/800 TC- 44 TCP- 311.00 GPA- 7.07							Second Year: MO/MM- 618/800 TC- 44 TCP- 350.00 GPA- 7.95							Grand Total: 1739				TMM: 2400			
UNIV ROLL NO : 1221790062 CAND.NAME : UDAY THAKUR REG NO : 22-CSK-23			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Recreation ( PED305TH )	24	11	30	55	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	6.57	6.73	A+	PASS
Methods of Teaching in Physical Education ( PED307TH )	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	21	11	30	31	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Democracy and Governance ( POLS 302 (A) )	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Polity and Society in India ( SOCL-A 307 )	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Economy and Society ( SOCL-A 308 )	16	11	30	57	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	23	11	30	51	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00				
										-	MO/MM- 512 / 800					TC-44	TCP - 289.00	Dis. -			
First Year: MO/MM- 479/800 TC- 44 TCP- 283.00 GPA- 6.43							Second Year: MO/MM- 553/800 TC- 44 TCP- 316.00 GPA- 7.18							Grand Total: 1544				TMM: 2400			
UNIV ROLL NO : 1221790063 CAND.NAME : VISHAL ATRI REG NO : 22-CSK-5			FATHER'S NAME : DALIP CHAND							MOTHER'S NAME : REETA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Recreation ( PED305TH )	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	7.23	6.70	A++	PASS
Methods of Teaching in Physical Education ( PED307TH )	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	21	11	30	39	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Polity and Society in India ( SOCL-A 307 )	23	11	30	32	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Economy and Society ( SOCL-A 308 )	18	11	30	53	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	21	11	30	55	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 550 / 800					TC-44	TCP - 318.00	Dis. -			
First Year: MO/MM- 471/800 TC- 44 TCP- 273.00 GPA- 6.20							Second Year: MO/MM- 494/800 TC- 44 TCP- 293.00 GPA- 6.66							Grand Total: 1515				TMM: 2400			

**This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.**

**A.R. / D.R. (Exam-I)  
H.P.University, Shimla-5.**

**Dated : .....**

**Controller of Examinations  
H.P.University, Shimla-5.**

**Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.**

**A.R. / D.R. (Exam-I)  
H.P.University, Shimla-5.**